Exploded diagram and spare parts list

Ql?;zﬁ 72

DN636 DN367

37171

Qo T
ﬁ_m 74

37209

37204

37204

37240 (220V)
37245 {120V}

37213 {220V
a72138 (110V)

3?209Ju

NBWOG
37209 37205

%ﬁ:iﬂ 75
37178

37300 (220V)
37350 (120V)

37231

37230 (220V)
372308 (110V)

37189
37250 (220V) J
372508 (110V)

@ Technical & Spares helpline 0845 111 0538

spares@uropa-service.co.uk

—_—
37170
—_—_—\
37170
37470 37101 4liters

371031 4Liters
371331 2Liters

37104 4lLiters
37134 2Liters

R

37125P 4Liters
37105S 4Liters
371358 2Liters
37155P 2liters

Bowls:
2LP 21
4LP 41

o ———— 37455

37458

3745SRE

37460 ii]
37457
8

-% E 37225

37459
w

37465

37131 2liters

: 2 liters stainless steel

iters plastic

4Ll : 4 liters stainless steel

iters plastic

1|Page



Exploded diagram and spare parts list DN636 DN367

Machine Explode Code Description

Santos Kitchen Blender 2LP AD749 COMPLETE 2L POLYCARBONATE BOWL (EX 37150P)
Santos Kitchen Blender 2L AD748 COMPLETE 2L STAINLESS STEEL BOWL (EX 37130I)
Santos Kitchen Blender 4LP DN989 COMPLETE 4 L POLYCARBONATE BOWL (EX 37120P)
Santos Kitchen Blender 4Ll DN988 COMPLETE 4L STAINLESS STEEL BOWL (EX 37100I)
Santos Kitchen Blender 37101 a COMPLETE S.STEEL 4L COVER

Santos Kitchen Blender 37102 a FILLER CAP

Santos Kitchen Blender 371031 a STAINLESS STEEL 4 LITERS COVER

Santos Kitchen Blender 37104 a 4 L COVER RUBBER GASKET

Santos Kitchen Blender 371051 a STAINLESS STEEL 4L BOWL ONLY

Santos Kitchen Blender 37106 a 2L & 4L HANDLE

Santos Kitchen Blender 37125P a 4 L POLYCARBONATE BOWL ONLY

Santos Kitchen Blender 371311 a COMPLETE STAINLESS STEEL 2 LITERS COVER
Santos Kitchen Blender 37133l a2 STAINLESS STEEL 2 LITERS COVER

Santos Kitchen Blender 37134 a2 2L COVER RUBBER GASKET

Santos Kitchen Blender 371351 a2 STAINLESS STEEL 2 LITERS BOWL ONLY
Santos Kitchen Blender 37155P a2 2 L POLYCARBONATE BOWL ONLY

Santos Kitchen Blender 37170 AE288 COMPLETE BLADES AND SUPPORT ASSEMBLY
Santos Kitchen Blender 37171 a2 KNIVES NUT

Santos Kitchen Blender 37172 a2 UPPER BLADE

Santos Kitchen Blender 37173 a2 INTERMEDIATE BLADE

Santos Kitchen Blender 37174 a2 LOWER BLADE

Santos Kitchen Blender 37175 a2 BLADES HOLDER

Santos Kitchen Blender 37176 a2 V RING GASKET V16 A

Santos Kitchen Blender 37177 a2 BEARING 697 ST.STEEL

Santos Kitchen Blender 37183 a2 LOWER SPACER

Santos Kitchen Blender 37184 a2 BLADES GASKET

Santos Kitchen Blender 37185 a2 BLADES AXLE

Santos Kitchen Blender 37188 2 WASHER 4 X 14

Santos Kitchen Blender 37189 2 SCREWH M 4X105S/S

Santos Kitchen Blender 37190 2 BEARING SUPPORTING HUB

Santos Kitchen Blender 37195 2 COMPLETE UPPER RIGID COUPLING

Santos Kitchen Blender 37196 2 UPPER RIGID COUPLING

Santos Kitchen Blender 37197 2 COUPLING WASHER

Santos Kitchen Blender 37198 2 SCREW 3 X 12

Santos Kitchen Blender 37199 AE297 COMPLETE COUPLINGS KIT

Santos Kitchen Blender 37202 2 WASHER AZ 4

Santos Kitchen Blender 37203 2 SCREW 4 X 10 ZN

Santos Kitchen Blender 37204 2 NUTH M 4 ZN

Santos Kitchen Blender 37205 2 SCREW 5 X 16 ZN

Santos Kitchen Blender 37206 2 WASHER 5 X 12

Santos Kitchen Blender 37207 a RUBBER FOOT 25 X 15

Santos Kitchen Blender 37209 a SCREW H M 4X12 ZN

Santos Kitchen Blender 37213 a POWER CORD WITH EUROPE PLUG

Santos Kitchen Blender 37213B a POWER CORD WITH USA PLUG

Santos Kitchen Blender 37225 a BOTTOM PLATE ONLY

Santos Kitchen Blender 37230 a INTERFERENCE FILTER 220V

Santos Kitchen Blender 37230B a INTERFERENCE FILTER 110V

2|Page
@ Technical & Spares helpline 0845 111 0538
spares@uropa-service.co.uk




Exploded diagram and spare parts list DN636 DN367

Santos Kitchen Blender 37231 2 INTERFERENCE FILTER HOLDER
Santos Kitchen Blender 37233 2 SCREW H M 4 S.STEEL

Santos Kitchen Blender 37234 2 WASHER AZ 4

Santos Kitchen Blender 37240 a2 ELECTRONIC MODULE 220-240 V 50/60 HZ
Santos Kitchen Blender 37245 a2 ELECTRONIC MODULE 100-120 V 50/60 HZ
Santos Kitchen Blender 37250 a2 BOTTOM PLATE ASSEMBLY 220V
Santos Kitchen Blender 372508 a2 BOTTOM PLATE ASSEMBLY 110V
Santos Kitchen Blender 37300 AE289 COMPLETE MOTOR ASSEMBLY 220-240V 50/60 HZ
Santos Kitchen Blender 37301 a2 SCREWHM 4 X 12 LEFT

Santos Kitchen Blender 37302 a SCREW FS M5 X 20 S.STEEL

Santos Kitchen Blender 37303 = SCREWH5X 16

Santos Kitchen Blender 37313 AE295 SET OF 2 CARBON BRUSHES

Santos Kitchen Blender 37330 a SOFT LOWER COUPLING

Santos Kitchen Blender 37350 a COMPLETE MOTOR ASSEMBLY 100-120 V 50/60 HZ
Santos Kitchen Blender 37402 AE290 BOWL POSITIONING FLANGE
Santos Kitchen Blender 37405C a CHROMED BASE

Santos Kitchen Blender 37406P a2 PAINTED BASE GREY

Santos Kitchen Blender 37416 a2 FRICTION WASHER

Santos Kitchen Blender 37430 a ALIMINIUM HANDLE WITH BUSHES
Santos Kitchen Blender 37434 a GASKET 12X18X5

Santos Kitchen Blender 37435 a2 STAINLESS STEEL WASHER

Santos Kitchen Blender 37436 a2 BUSH 20X18X12

Santos Kitchen Blender 37437 a2 AXLE CIRCLIP DIAM 18

Santos Kitchen Blender 37438 AE291 SAFETY SWITCH HOLDING PLATE
Santos Kitchen Blender 37439 a2 DETECTION SPRING

Santos Kitchen Blender 37440 a2 BOWL DETECTION

Santos Kitchen Blender 37441 a2 SCREW H4X16 ZN

Santos Kitchen Blender 37442 AE292 SWITCH

Santos Kitchen Blender 37443 a2 SCREW HM 4 ZN

Santos Kitchen Blender 37450 a2 COMPLETE CAM

Santos Kitchen Blender 37451 a MOBILE CAM

Santos Kitchen Blender 37452 a SCREW H M 4X8 ZN

Santos Kitchen Blender 37453 a PIN 3X3X30

Santos Kitchen Blender 37454 a FIXED CAM

Santos Kitchen Blender 37455 a SCREW FZ M5X30 ZN

Santos Kitchen Blender 37456 a AXLE SPRING

Santos Kitchen Blender 37457 a SCREW 4X12

Santos Kitchen Blender 37458 a INFERIOR RING SPACER

Santos Kitchen Blender 37459 2 SCREW H M4X25 ZN

Santos Kitchen Blender 37460 a2 LOWER BEARING

Santos Kitchen Blender 37465 2 REAR PLATE

Santos Kitchen Blender 37470 a2 COMPLETE SAFETY ROD

Santos Kitchen Blender 37480 2 DECORATION PLATE

Santos Kitchen Blender 37482 2 POTENTIOMETER NUT

Santos Kitchen Blender 37483 2 BLACK BUTTON

Santos Kitchen Blender 37485 a2 FRONT PLATE ASSEMBLY

Santos Kitchen Blender 37490 AE296 POTENTIOMETER WITH WIRES

3|Page
@ Technical & Spares helpline 0845 111 0538
spares@uropa-service.co.uk




